B =By

ERaRATH (80C0) (R

IR 2oFEEE 2R s MhEREERTFIHICET 1HES
SER29%F 12 H6H




EHTHEEOYTUr—k

BEDCYUSTE R EDEMBER LBEEDRTEI;ERT A=,
mMEROEBIKEBOEFIRR, BEICETIMBAEFICETIART
[ZTDOWTCERAEZERLELT-,

Ehe A E29F6 A13H~7A7H

XMRE SHTAEFEOm20EUL7T0EREDH K
MREH 3,5004

REAMOEMEURGZE W hbExX(BER)

olUNEER 1,6164 [EIUNE:46.2%




30%

25%

20%

15%

10%

5%

0%

{5

[T
T

==

3 4% - A1)
::, C -
25.6%
24.7% -
22.5% 22.0%
20.2% 19.0
1)
17'?_‘ 6.6% 15.7% 17.1%
16.0% ,J 16.6% 15.5% —
15.5% 151%
13.0%
8.9% 6%
6.99
29 5.49%
a1% || | >0y 0| 52
o.om.mﬂ I
BHD BH®D #H E2H Z Dt
KREBRIE m £ 8 & 8,00055< AREFBEERE

<L)0)7‘*&>L:u7b\(7“’cmé_t

B 207% 1€
B 30i% X
0405% 1
0505% X
0605t

3

N=58

N=100
N=146
N=129
N=223

FR29FEEMHRE VT — AR



40%

35%

30%

25%

20%

15%

10%

5%

0%

{5

[T
T

ROKYDE=HIZIDATTNSIE

[ %1% - F4Ch1]

34.0%
32.3% |
27.5%
24.9% | .
21.3% 19.5% u 20%3'1% N=99
21.2% 18.5% m305E{t N=201
5 15.4%| | | .
18.1% D40% ¢ N=178
l O50&ft N=195
060X N=265
9 29 9.8% 9.0% a
— ] 71% ~ 6.0%
6.7% 6.2% o
‘1 ()o 41 ()94):3 ()0 ff:‘s : ]
2.0% ﬂ 1 79% H
0O SEHO B2H8 ZDth
RE T mERE 8, 00055( AFFBEE

4
FR29FEEMHRE VT — AR



35%

30%

25%

20%

19%

10%

9%

0%

(md

EHTEDHHADENE (1 FH7)

NEFEIEDY 1EIE, BHKEE2E, 1[E3057LULLED
EFE1F L LRl TS5 E

s H24 N=607 \ H24 N=971
I I
%li H29 N=656 tli H29 N=945
32.8%
30.2%
26.3% 26.7%
24.5%
22.0% 22.9% 22.6%
20.0% 20.0% 20.2%
15.1% 19.9% 4 9%
1 0
10.8% 10.1% 9.4% 8.5% |
5.1% i
201X 30mEfX  40E{X 50X 60m%{% 204X 30mE{X  40mEfX  50E{  60mEfK

H24 N=57 N=105 N=110 N=146 N=189
H29 N=58 N=100 N=146 N=129 N=223

B H24 [0H29

N=102 N=212 N=186 N=201 N=270
N=99 N=178 N=201 N=195 N=§65

FH24- 20 BATRE ST — A



100%

90% |
80% |
10%
60%
90% |
40%
30%
20%
10% |

0%

POCYKMATRELTHDADEIS

[

1% -

- A0 ]
B

2%

N=1601

29.4%

235.9%

33.0%

26.0%

29.5% 30.9%

40.2%

91.9%

0
44.4% 40 4%

37.3%

32.3%

/K 2051 30m%{% 40m%{X 50m%{X 60E%{E

N=656 N=58 N=100 N=146 N=129 N=223

/K 205X 30m% X 40m%{X 50m%{E 60mR{t

N=945 N=99 N=178 N=201 N=195 N=265

6




BEOEOIZCHANTBIZHEEST S
%T*ODEB&]SOg)! ZDOWWTHIDTWLWBAADEES
4 - 4K Rl

B4 4 N=1,601

100%
90% |
80% |
70% |
60% |- 54.4% 55.6% ., 99-9% 57.4%
46.5%

0% | 41.7%
40% [35.5% 3025 45 gy 35 gy,
30% |
20% |
10% |

29.5%

0% ! ! ! ! ! ! ! ! ! ! ! !

2K 20A 30 401 50K 60% MK 2K 20FA 30 40 501K 60E M

N=656 N=58 N=100 N=146 N=129 N=223 N=945 N=99 N=178 N=201 N=195 N=265
7



A EEE:
[ - F4CH)

B

=401t H24 N=607
=401t H29 N=656
©FE  H27 N=2,445

RDVRVZEEOHEZEHHELTLHADEIEG

EEEERDIRIEZEHHELIETILO—ILH
B4 T1HEN40g, ZTHET20g

it E40TH H24 N=971
E40TH H29 N=945
£E  H27 N=2,797

39%

32.2%

30%

25%

20%
15%
10%
9%
0%

H24 N=
H29 N=58

20K
57

N=105 N=110 N=146

N=100 N=146 N=129

14,
15.6% 19-4% 11.3%
L 40% 13.5%

11.8% : 12.1%

30mft 40t 5Ot 60mft 2048 SOMMK A0EI SO GO
N=189 N=102 N=212 N=186 N= N=270
N=223 _ N=178 N=201 N=195  N=265
N=99
N=713 N=206 N=428 N=659 N=586 N=828 8

£E(H27) N=256 N=404 N=553 N=519

B H24 OH29 MH27

F24-20E AT RE STV — A
£ PRUEREE 2EHE



